

## SHARP COEFFICIENT BOUNDS OF ANALYTIC FUNCTIONS SUBORDINATE TO SHELL-LIKE CURVES CONNECTED WITH $k$ -FIBONACCI NUMBERS

SERAP BULUT\* AND JANUSZ SOKÓŁ

*Abstract.* Let us consider the function

$$\tilde{p}_k(z) = \frac{1 + \tau_k^2 z^2}{1 - k\tau_k z - \tau_k^2 z^2} := 1 + \sum_{n=1}^{\infty} \tilde{p}_{k,n} z^n.$$

The coefficients of the function  $\tilde{p}_k(z)$  are connected with  $k$ -Fibonacci numbers:

$$\tilde{p}_{k,n} = (F_{k,n-1} + F_{k,n+1}) \tau_k^n \quad (n = 1, 2, \dots).$$

If the function  $p$  of the form  $p(z) = 1 + p_1 z + p_2 z^2 + \dots$  satisfies

$$p(z) \prec \tilde{p}_k(z),$$

then we have

$$\begin{aligned} |p_1| &\leq k |\tau_k| = |\tilde{p}_{k,1}|, \\ |p_2| &\leq (k^2 + 2) \tau_k^2 = |\tilde{p}_{k,2}|, \\ |p_3| &\leq (k^3 + 3k) |\tau_k|^3 = |\tilde{p}_{k,3}|. \end{aligned}$$

In this paper, we prove that

$$|p_n| \leq (F_{k,n-1} + F_{k,n+1}) |\tau_k|^n = |\tilde{p}_{k,n}| \quad (n = 1, 2, \dots).$$

### 1. Introduction

Let  $\mathbb{R} = (-\infty, \infty)$  be the set of real numbers,  $\mathbb{C}$  be the set of complex numbers and

$$\mathbb{N} := \{1, 2, 3, \dots\} = \mathbb{N}_0 \setminus \{0\}$$

be the set of positive integers.

Assume that  $\mathcal{H}$  is the class of analytic functions in the open unit disc

$$\mathbb{U} = \{z \in \mathbb{C} : |z| < 1\}.$$

For two functions  $f, g \in \mathcal{H}$ , we say that the function  $f$  is subordinate to  $g$  in  $\mathbb{U}$ , and write

$$f(z) \prec g(z) \quad (z \in \mathbb{U}),$$

---

*Mathematics subject classification* (2020): 30C45, 30C50, 30C80.

*Keywords and phrases:* Analytic function, univalent function, shell-like function, Fibonacci numbers, subordination.

\* Corresponding author.

if there exists a Schwarz function

$$\omega \in \Omega := \{\omega \in \mathcal{H} : \omega(0) = 0 \quad \text{and} \quad |\omega(z)| < 1 \quad (z \in \mathbb{U})\},$$

such that

$$f(z) = g(\omega(z)) \quad (z \in \mathbb{U}).$$

Indeed, it is known that

$$f(z) \prec g(z) \quad (z \in \mathbb{U}) \Rightarrow f(0) = g(0) \quad \text{and} \quad f(\mathbb{U}) \subset g(\mathbb{U}).$$

Furthermore, if the function  $g$  is univalent in  $\mathbb{U}$ , then we have the following equivalence

$$f(z) \prec g(z) \quad (z \in \mathbb{U}) \Leftrightarrow f(0) = g(0) \quad \text{and} \quad f(\mathbb{U}) \subset g(\mathbb{U}).$$

DEFINITION 1. [6] For any positive real number  $k$ , the  $k$ -Fibonacci sequence  $\{F_{k,n}\}_{n \in \mathbb{N}_0}$  is defined recurrently by

$$F_{k,n+1} = kF_{k,n} + F_{k,n-1} \quad (n \in \mathbb{N})$$

with initial conditions

$$F_{k,0} = 0, \quad F_{k,1} = 1.$$

Furthermore  $n^{\text{th}}$   $k$ -Fibonacci number is given by

$$F_{k,n} = \frac{(k - \tau_k)^n - \tau_k^n}{\sqrt{k^2 + 4}}, \quad (1)$$

where

$$\tau_k = \frac{k - \sqrt{k^2 + 4}}{2}.$$

For  $k = 1$ , we obtain the classic Fibonacci sequence  $\{F_n\}_{n \in \mathbb{N}_0}$  :

$$F_0 = 0, \quad F_1 = 1, \quad \text{and} \quad F_{n+1} = F_n + F_{n-1} \quad (n \in \mathbb{N}).$$

THEOREM 1. [9] Let  $\{F_{k,n}\}_{n \in \mathbb{N}_0}$  be the sequence of  $k$ -Fibonacci numbers defined in Definition 1. If

$$\tilde{p}_k(z) = \frac{1 + \tau_k^2 z^2}{1 - k\tau_k z - \tau_k^2 z^2} := 1 + \sum_{n=1}^{\infty} \tilde{p}_{k,n} z^n, \quad (2)$$

then we have

$$\tilde{p}_{k,1} = k\tau_k, \quad \tilde{p}_{k,2} = (k^2 + 2)\tau_k^2, \quad \tilde{p}_{k,n} = (F_{k,n-1} + F_{k,n+1})\tau_k^n \quad (n \in \mathbb{N}). \quad (3)$$

The function (2) was applied for defining several classes of analytic functions, for more details we refer to [1, 3, 4, 5, 7, 8, 10, 11, 12, 13, 14].

LEMMA 1. [14] If  $p(z) = 1 + p_1z + p_2z^2 + \dots$  ( $z \in \mathbb{U}$ ) and

$$p(z) \prec \tilde{p}_k(z) = \frac{1 + \tau_k^2 z^2}{1 - k\tau_k z - \tau_k^2 z^2}, \quad \tau_k = \frac{k - \sqrt{k^2 + 4}}{2},$$

then we have

$$|p_1| \leq k|\tau_k| \quad \text{and} \quad |p_2| \leq (k^2 + 2)\tau_k^2.$$

The above estimates are sharp.

LEMMA 2. [8] If  $p(z) = 1 + p_1z + p_2z^2 + \dots$  ( $z \in \mathbb{U}$ ) and

$$p(z) \prec \tilde{p}_k(z) = \frac{1 + \tau_k^2 z^2}{1 - k\tau_k z - \tau_k^2 z^2}, \quad \tau_k = \frac{k - \sqrt{k^2 + 4}}{2},$$

then we have

$$|p_3| \leq (k^3 + 3k)|\tau_k|^3.$$

The result is sharp.

Güney et al. [8] also stated the following conjecture:

CONJECTURE. If  $p(z) = 1 + p_1z + p_2z^2 + \dots$  ( $z \in \mathbb{U}$ ) and

$$p(z) \prec \tilde{p}_k(z) = \frac{1 + \tau_k^2 z^2}{1 - k\tau_k z - \tau_k^2 z^2}, \quad \tau_k = \frac{k - \sqrt{k^2 + 4}}{2},$$

then we have

$$|p_n| \leq (F_{k,n-1} + F_{k,n+1})|\tau_k|^n \quad (n \in \mathbb{N}).$$

The main purpose of this paper is to prove that this conjecture is true.

## 2. Main results

THEOREM 2. If  $p(z) = 1 + p_1z + p_2z^2 + \dots$  and

$$p(z) \prec \tilde{p}_k(z) = \frac{1 + \tau_k^2 z^2}{1 - k\tau_k z - \tau_k^2 z^2} = 1 + \sum_{n=1}^{\infty} (F_{k,n-1} + F_{k,n+1})\tau_k^n z^n, \quad (4)$$

then we have

$$|p_n| \leq (F_{k,n-1} + F_{k,n+1})|\tau_k|^n \quad (n \in \mathbb{N}). \quad (5)$$

The result is sharp.

*Proof.* If  $p$  satisfies (4), then by the principle of subordination, there exists a Schwarz function  $\omega \in \Omega$  such that

$$p(z) = \frac{1 + a\omega^2(z)}{1 - b\omega(z) - a\omega^2(z)} \quad (z \in \mathbb{U}), \quad (6)$$

where  $a = \tau_k^2$ ,  $b = k\tau_k$ . This gives

$$p(z) - 1 = a\omega^2(z)(1 + p(z)) + b\omega(z)p(z).$$

Therefore, we can write

$$\sum_{m=1}^n p_m z^m + \sum_{m=n+1}^{\infty} c_m z^m = a\omega^2(z) \left( 1 + \sum_{m=0}^{n-2} p_m z^m \right) + b\omega(z) \left( \sum_{m=0}^{n-1} p_m z^m \right) \quad (p_0 = 1). \quad (7)$$

for some  $c_m$ ,  $m = n+1, n+2, \dots$ . Then, we have

$$\sum_{m=1}^n p_m z^m + \sum_{m=n+1}^{\infty} c_m z^m = \sum_{m=0}^{n-1} (a\omega^2(z)q_{m-1}z^{m-1} + b\omega(z)p_m z^m), \quad (8)$$

where  $q_{-1} = 0$ ,  $q_0 = 2$  and  $q_m = p_m$  for  $m \in \mathbb{N}$ . The left hand side of (8) is a function  $F$ , analytic in  $\mathbb{U}$ . From (8), we have

$$\begin{aligned} |F(z)|^2 &= \left| \sum_{m=0}^{n-1} (a\omega^2(z)q_{m-1}z^{m-1} + b\omega(z)p_m z^m) \right|^2 \\ &\leq \left| \sum_{m=0}^{n-1} (a\omega(z)q_{m-1}z^{m-1} + bp_m z^m) \right|^2 \\ &\leq \left| \sum_{m=0}^{n-1} a\omega(z)q_{m-1}z^{m-1} \right|^2 + \left| \sum_{m=0}^{n-1} bp_m z^m \right|^2 + 2 \left| \sum_{m=0}^{n-1} a\omega(z)q_{m-1}z^{m-1} \sum_{m=0}^{n-1} bp_m z^m \right| \\ &\leq \left| \sum_{m=0}^{n-1} aq_{m-1}z^{m-1} \right|^2 + \left| \sum_{m=0}^{n-1} bp_m z^m \right|^2 + 2 \left| \sum_{m=0}^{n-1} aq_{m-1}z^{m-1} \right| \left| \sum_{m=0}^{n-1} bp_m z^m \right|. \end{aligned} \quad (9)$$

From Hölder's inequality, we have

$$\begin{aligned} &\int_0^{2\pi} \left| \sum_{m=0}^{n-1} aq_{m-1}z^{m-1} \right| \left| \sum_{m=0}^{n-1} bp_m z^m \right| d\phi \\ &\leq \sqrt{\int_0^{2\pi} \left| \sum_{m=0}^{n-1} aq_{m-1}z^{m-1} \right|^2 d\phi} \sqrt{\int_0^{2\pi} \left| \sum_{m=0}^{n-1} bp_m z^m \right|^2 d\phi}, \end{aligned}$$

where  $z = re^{i\phi}$ . Therefore, integrating the both sides of equality (9) around  $z = re^{i\phi}$  and taking limit  $r \rightarrow 1^-$  we obtain

$$\begin{aligned} \sum_{m=1}^n |p_m|^2 + \sum_{m=n+1}^{\infty} |c_m|^2 &\leq \sum_{m=0}^{n-1} |aq_{m-1}|^2 + \sum_{m=0}^{n-1} |bp_m|^2 + 2\sqrt{\sum_{m=0}^{n-1} |aq_{m-1}|^2} \sqrt{\sum_{m=0}^{n-1} |bp_m|^2} \\ &= \left( \sqrt{\sum_{m=0}^{n-1} |aq_{m-1}|^2} + \sqrt{\sum_{m=0}^{n-1} |bp_m|^2} \right)^2 \\ &\leq \sum_{m=0}^{n-1} (|aq_{m-1}| + |bp_m|)^2, \end{aligned}$$

applying in the last step Minkowski's inequality

$$\sqrt{\left| \sum_{k=1}^n x_k^2 \right|} + \sqrt{\left| \sum_{k=1}^n y_k^2 \right|} \leq \sqrt{\sum_{k=1}^n (|x_k| + |y_k|)^2}.$$

Hence we find

$$|p_n|^2 + \sum_{m=1}^{n-1} |p_m|^2 \leq \sum_{m=0}^{n-1} \left\{ |a|^2 |q_{m-1}|^2 + |b|^2 |p_m|^2 + 2|abq_{m-1}p_m| \right\}, \quad (10)$$

where  $q_{-1} = 0$ ,  $q_0 = 2$  and  $q_m = p_m$  for  $m \in \mathbb{N}$ , so (10) gives

$$|p_1|^2 \leq b^2, \quad (11)$$

$$|p_2|^2 \leq (b^2 - 1) |p_1|^2 + 4|ab| |p_1| + 4a^2 + b^2, \quad (12)$$

and

$$\begin{aligned} |p_n|^2 \leq & (b^2 - 1) |p_1|^2 + 4|ab| |p_1| + 4a^2 + b^2 \\ & + \sum_{m=2}^{n-1} \left\{ a^2 |p_{m-1}|^2 + (b^2 - 1) |p_m|^2 + 2|ab| |p_{m-1}p_m| \right\}, \quad (n \geq 3). \end{aligned} \quad (13)$$

We note that the inequality (11) implies

$$|p_1| \leq k|\tau_k| = |\tilde{p}_{k,1}| = (F_{k,0} + F_{k,2})|\tau_k|. \quad (14)$$

Now consider the inequality (12). Because  $a = \tau_k^2$  and  $b = k\tau_k$ , after a standard calculations, we obtain that  $(b^2 - 1) |p_1|^2 + 4|ab| |p_1| + 4a^2 + b^2$  increases with respect to  $|p_1|$ , where by (14)  $|p_1| \in [0, k|\tau_k|]$ . Since then

$$\begin{aligned} (b^2 - 1) |p_1|^2 + 4|ab| |p_1| + 4a^2 + b^2 & \leq \left[ (b^2 - 1) |p_1|^2 + 4|ab| |p_1| + 4a^2 + b^2 \right]_{|p_1|=k|\tau_k|} \\ & = \tau_k^4 (2 + k^2)^2 = (F_{k,1} + F_{k,3})^2 \tau_k^4, \end{aligned} \quad (15)$$

and (12) gives

$$|p_2| \leq (k^2 + 2) \tau_k^2 = |\tilde{p}_{k,2}| = (F_{k,1} + F_{k,3}) \tau_k^2. \quad (16)$$

Now, we will prove (5) by applying mathematical induction. In (14) and (16) it was proved that (5) holds for the case  $n = 1$  and  $n = 2$ . Suppose that (5) holds for  $3, 4, \dots, n - 1$ . Then from (13), we have

$$\begin{aligned} |p_n|^2 \leq & (b^2 - 1) |p_1|^2 + 4|ab| |p_1| + 4a^2 + b^2 \\ & + \sum_{m=2}^{n-1} a^2 (F_{k,m-2} + F_{k,m})^2 |\tau_k|^{2(m-1)} \\ & + \sum_{m=2}^{n-1} (b^2 - 1) (F_{k,m-1} + F_{k,m+1})^2 |\tau_k|^{2m} \\ & + \sum_{m=2}^{n-1} 2|ab| (F_{k,m-2} + F_{k,m}) (F_{k,m-1} + F_{k,m+1}) |\tau_k|^{2m-1}. \end{aligned}$$

Using (15) and  $a = \tau_k^2$  and  $b = k\tau_k$ , we get

$$\begin{aligned}
 |p_n|^2 &\leq (F_{k,1} + F_{k,3})^2 \tau_k^4 \\
 &\quad + \sum_{m=2}^{n-1} (F_{k,m-2} + F_{k,m})^2 |\tau_k|^{2m+2} \\
 &\quad + \sum_{m=2}^{n-1} k^2 (F_{k,m-1} + F_{k,m+1})^2 |\tau_k|^{2m+2} \\
 &\quad + \sum_{m=2}^{n-1} 2k (F_{k,m-2} + F_{k,m})(F_{k,m-1} + F_{k,m+1}) |\tau_k|^{2m+2} \\
 &\quad - \sum_{m=2}^{n-1} (F_{k,m-1} + F_{k,m+1})^2 |\tau_k|^{2m}.
 \end{aligned}$$

Therefore, applying the property  $F_{k,s} = kF_{k,s-1} + F_{k,s-2}$  ( $s \geq 2$ ), we obtain

$$\begin{aligned}
 |p_n|^2 &\leq (F_{k,1} + F_{k,3})^2 \tau_k^4 \\
 &\quad + \sum_{m=2}^{n-1} \{ (F_{k,m-2} + F_{k,m}) + k(F_{k,m-1} + F_{k,m+1}) \}^2 |\tau_k|^{2m+2} \\
 &\quad - \sum_{m=2}^{n-1} (F_{k,m-1} + F_{k,m+1})^2 |\tau_k|^{2m} \\
 &= \sum_{m=1}^{n-1} \{ F_{k,m} + F_{k,m+2} \}^2 |\tau_k|^{2m+2} - \sum_{m=2}^{n-1} (F_{k,m-1} + F_{k,m+1})^2 |\tau_k|^{2m+2} \\
 &= (F_{k,n-1} + F_{k,n+1})^2 |\tau_k|^{2n}.
 \end{aligned}$$

This proves  $|p_n| \leq (F_{k,n-1} + F_{k,n+1}) |\tau_k|^n$ , and by induction (5) holds for all  $n \in \mathbb{N}$ .

The coefficients  $\tilde{p}_{k,n}$  of the function  $\tilde{p}_k$  satisfy

$$|\tilde{p}_{k,n}| = (F_{k,n-1} + F_{k,n+1}) |\tau_k|^n \quad (n \in \mathbb{N}),$$

by Theorem 1, so in this sense Theorem 2 is sharp.  $\square$

For  $k = 1$ , we obtain following consequence which proves [13, Conjecture 2.1].

**COROLLARY 1.** *If  $p(z) = 1 + p_1z + p_2z^2 + \dots$  and*

$$p(z) \prec \tilde{p}(z) = \frac{1 + \tau^2 z^2}{1 - \tau z - \tau^2 z^2} = 1 + \sum_{n=1}^{\infty} (F_{n-1} + F_{n+1}) \tau^n z^n, \quad \tau = \frac{1 - \sqrt{5}}{2},$$

then we have

$$|p_n| \leq (F_{n-1} + F_{n+1}) |\tau|^n \quad (n \in \mathbb{N}).$$

## REFERENCES

- [1] S. BULUT, *Fekete-Szegő problem for starlike functions connected with  $k$ -Fibonacci numbers*, Math. Slovaca, **71**, 4 (2021), 823–830.
- [2] P. L. DUREN, *Univalent Functions*, Grundlehren der Mathematik. Wissenschaften, Bd, Springer-Verlag, NewYork, 1983.
- [3] J. DZIOK, R. K. RAINA AND J. SOKÓŁ, *On  $\alpha$ -convex functions related to shell-like functions connected with Fibonacci numbers*, Appl. Math. Comput., **218**, (2011), 996–1002.
- [4] J. DZIOK, R. K. RAINA AND J. SOKÓŁ, *Certain results for a class of convex functions related to a shell-like curve connected with Fibonacci numbers*, Comput. Math. Appl., **61**, (2011), 2605–2613.
- [5] J. DZIOK, R. K. RAINA AND J. SOKÓŁ, *On a class of starlike functions related to a shell-like curve connected with Fibonacci numbers*, Math. Comput. Modelling, **57**, (2013), 1203–1211.
- [6] S. FALCÓN AND A. PLAZA, *The  $k$ -Fibonacci sequence and the Pascal 2-triangle*, Chaos Solitons Fractals, **33**, 1 (2007), 38–49.
- [7] H. Ö. GÜNEY, S. İLHAN AND J. SOKÓŁ, *An upper bound for third Hankel determinant of starlike functions connected with  $k$ -Fibonacci numbers*, Bol. Soc. Mat. Mex. (3), **25**, 1 (2019), 117–129.
- [8] H. Ö. GÜNEY, J. SOKÓŁ AND S. İLHAN, *Second Hankel determinant problem for some analytic function classes with connected  $k$ -Fibonacci numbers*, Acta Univ. Apulensis Math. Inform., **54**, (2018), 161–174.
- [9] N. YILMAZ ÖZGÜR AND J. SOKÓŁ, *On starlike functions connected with  $k$ -Fibonacci numbers*, Bull. Malays. Math. Sci. Soc., **38**, 1 (2015), 249–258.
- [10] R. K. RAINA AND J. SOKÓŁ, *Fekete-Szegő problem for some starlike functions related to shell-like curves*, Math. Slovaca, **66**, 1 (2016), 135–140.
- [11] J. SOKÓŁ, *On starlike functions connected with Fibonacci numbers*, Folia Scient. Univ. Tech. Resoviensis, **175**, 23 (1999), 111–116.
- [12] J. SOKÓŁ, S. İLHAN AND H. Ö. GÜNEY, *An upper bound for third Hankel determinant of starlike functions related to shell-like curves connected with Fibonacci numbers*, J. Math. Appl., **41**, (2018), 195–206.
- [13] J. SOKÓŁ, S. İLHAN AND H. Ö. GÜNEY, *Second Hankel determinant problem for several classes of analytic functions related to shell-like curves connected with Fibonacci numbers*, TWMS J. App. Eng. Math., **8**, 1a (2018), 220–229.
- [14] J. SOKÓŁ, R. K. RAINA AND N. YILMAZ ÖZGÜR, *Applications of  $k$ -Fibonacci numbers for the starlike analytic functions*, Hacettepe J. Math. Stat., **44**, 1 (2015), 121–127.

(Received August 31, 2022)

Serap Bulut  
Kocaeli University  
Faculty of Aviation and Space Sciences  
Arslanbey Campus, 41285 Kartepe-Kocaeli, Turkey  
e-mail: serap.bulut@kocaeli.edu.tr

Janusz Sokół  
University of Rzeszów  
College of Natural Sciences  
ul. Prof. Pigonia 1, 35-310, Rzeszów, Poland  
e-mail: jsokol@ur.edu.pl